MAT 201, Quiz #1, Sprin

Instructions: Show all w
credit. Some questions
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may contain multiple parts: be sure to answer all of them, Give exact answers

to estimate.
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1. Plot the points
P(3,-2,3),Q(7,0,1),R(1,2, —1) on the
graph below. Label the axes
appropriately using the right-hand rule.
2. The points in #1 form a triangle. Find the
length of each side and determine if the T
triangle is a right triangle. No P 1
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3. Find the midpoint of the side QR. Q-
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s what the graph of 2 + z2 = 16 looks like i(including its orientation in space).
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Consider the vect
a. Find its lengt
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Find a unit vector in the same direction.

or i ++/3j.
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Write the vector in polar form.
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For the matrices A

ween the vectors (3, —1,5) and i + 2j — 2k,
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